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Name:

Directions: Write your answers in the provided space. To get full credit you must
show all your work. Simplify your answers whenever possible. Be certain to indicate
your final answer clearly. Each question is worth 4 points

' _30-3%3= 30-9 =2
1. Evaluate: 30—-3%+9-3 —30-27-9-2 =30-5"3 30 -9
A.29 B.1 |C. 211 D. -1

2. Write a mathematical statement that represent the following English statement:

Seven less than three times a number is 53.

3“0__]—_5'5

3. Find the number that satisfies the statement in Question 2.

g 7253473 =53%7
d=> 3 = 60

The vwuwper is 220

1 1
4. Evaluate a? — b*, when a = 4 and b = —4. (u) - (-4)y =160 16=0

B.32 C.-32 D.16

5. Evaluate the expression 22 — x + y?, when z = —3 and y = —2.
T
(-3) (D + Y= 36Dy
9 +3 +u
> X4 a

(12




(1N -C7) _ —g47 0 T -
(5y-1-2) s+

6. Evaluate the expression P2 , when x1 = —2, 9 =5, y; = —7, and y, = —14.
L2 — I
1 1 l ’
A.- B.——- C.1 |[D. -1
3 3
7. Solve for a:  3(5—2a) =1—20q =" 15~ 6 =1~ 20 4=> 2oo-boz 4 - 15
7 7 /=> o = - |4
A a=1 ’B. :—150. =— D.a=—
a a a 5 a E

L:B Qo = — ‘I
8. If n represents a number, which equation is correct translation of the sentence?

15 is 12 less than 2 times a number.

A 15=12—-2n B. 15=2(n—-12) | C. 15=2n—12| D. 15 =2(12 — n)

9. The following is the graph of the solution set of a linear inequality.

— —

\}\S'\\\T ~est Value

The inequality is:
A z+1<2 Blz+1>2 C. a2+¥<2 D. ax3d1>2 < _
Vo l4Lx T \>’2_@ Bsvdear \lQXQuQ.

. . . . O %—6b=5Cx+3
10. Find the graph of the solution to the inequality 2x — 6 > 5z + 3 s r-Gy = 3N

A) | | | | | | | —— P——

5 —4 -3 —2 -1 0 1 2 3 5 eot Value
B) - - sssssssse————{) |

5 -4 -3 -2 -1 0 1 2 3 4 5 -623 (F)

ﬁ : : : : : :
-5 -4 -3 -2 -1 O 1 2 3

D) : :
-5 -4 -3 -2 -1 0 1 2 3 4 5

W

B 1
Ol 4+

11. Solve for z: 3z —7z=05—2y <=> 3x+2y-5 ~ 1z
A z=-T73x+2y—5)

3x4Ly-5
3742y —5 (L= ——— =
p=""- = 7
7
5 —3x — 2y
C.o="—""=
© 7
3z —2y+5
D .2ty To

7



12. Evaluate the expression Vb2 — 4ac, when a = 4, b= —4, ¢ = —3.

m

= )
=|l6+0k

en

—2
13. Solve the equation: a + =z

[

(@}
w

_1 -

<
5. — + |5
: 5

=15 X «=> 3[x—1)+5(g-x\:|5x

3

<_.__>S><—6+@D—5X = |5 %
=> -1 X +34 = |B %

(2> 30 = \ox + 2%
d=> 3L|- = l7)(

-

14. Solve the equation:
—2Bx—1)=5(zr+2)—1lxe+7

(=> —6bx +2 =5 X +£10 ~\UIx x71
sy —Ox L == I 417 Twpsssible
(= _4x X bx = (1-2

7£=> 0D = \%

50 *E\/\.-\S G,j' \}LQ\"'C:\\:\I\ \ < &N Conavad i Lo,

The e,°\ \m—'c.\‘o\'\ \r\Qg "N D Saﬁ\x—b:\’oms.




15. Find b if when x = 2, y = —3, and m = 2, the following equation is true:

(~3)t (2\(1\ +b
4:5—3:(5(‘\‘5
&> -3x—-U4=b

e[-1-b)

16. Solve the following equation:

y=mx+b

3(z+7)—8=z+3&> 3x+ - = X+3

—> 33X + 13 = X+3

= 2x-x = 3-1(R

£=> Jx=-10

-

17. Solve the following inequality, and graph the solution set in the provided graph.

9—2(2z+3) < —Tz—3
F'l‘f-S'\' e ,Q—\\;\A —k\I\Q gb‘fég« \\0\(“8:

Q- 2(2%43\ = - Tx -2

(=> A-ax—6 - Tx -3
(=>2- Lx=-T7Tx-3

(= ~4X+)x = -3 =3
(:> EX:— é

Z=>)<:—2

The graph of the solution set is:

-6 -5 -4 -3 =2

U\S.\’Y\C% Tect Nofne =D

q - 2(3N 2 —24> Q-6 2-3
= 3L-3

Thas 1y F%\L&E




18. Solve the equation:

2
T 62 g = 6—;—

3 2 g

=D bx 46 = 3%

<=> 4Lx-2% = =6 -

19. Find y so that when x = —2 the following equation is true:
S\LbS—k'\—\\J--k'\-\a x=-NL: 3$—5y:7

3(-2) ~5y =157 =6 -54=1
Z=> —Hy = 7T+ b

{=> _1;:5 :15

= |9= "

20. The length of a rectangle is 6 inches less than twice its width. Find the dimensions of
the rectangle if its perimeter is 12 inches.
Té)( \S 'k'\.\Q \Nadé\/\ J(\I\Qv\ _L_\AQ Leu\a‘k\f\ (g Qx,_G SO -E\I\Q PQ\("\\NQ‘\'QV 1S

O +o(ax-6). *°
D ¢ Q(Ax=-¢Y= [ <= A%+ 4x-12= 1L
- 6x -12=\L
c=> bx=12%v4
7 bx= 24

L= L= Ly
Tlﬂf w“c\-k\/‘ v d /-}-ithe__( owd ,Jt\)\e ,69_\43&“ Q'LL\C = 2 '_‘\_\CLAQS.

21. Solve for w: V =4wh. (=> —\/— W o /=> W= \/—
> Lo Lh




22. The sum of three consecutive integers is 51. Find the integers.
TE » s Yhe swellest the othey Lwo wWxegeist aye x+b, x4+
o we Wovne ><+L><-H\—""(X+Q\':gl <=> 3% +3 =51
c=> Jx=51-32
== 2x= 0K

&= ==
The \\A—&€3QVI o Q (f)) 17/’K

23. Recall that the formula that converts degrees Fahrenheit F' to degrees Celsius C"

= S(F—32)

The temperature of an object measured in degrees Celsius is 60 more than when it is
measured in Fahrenheit. What is the temperature of the object?

o__

The JcCW\VQ\Q»c\Ne T t— o(. _%U\e ob;\eg—t S@L-&\&—Q'\eif

B o(F-a) = AF 4040 =5F 160
| [=> qF_5F1_|{,0—S’U,D

(= 4 F =-700

Fa60) -

= F = — ‘_{S

The tewpe vokunre of +lhe object is -175 °F (W —115OC\-

2 \? I\ - _
3 4(:\—4(T33_O
24. — is a solution of the equation 42? — 42z —3 =0
2 ,(?\ ()r(_g\_g:'b
B. Fake S
(=> 9 —-2=0
25. For a linear equation with one unknown both 0 and —7 are solutions. Which of the
following must necessarily be true?
A. There are no other solutions.

| B.| —4 is also a solution.

C. We can’t know all solutions.

D. This can’t happen with a linear equation.
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